2 *

A

0

3

* A F -

AF-3012

B.A/B.Sc. (Part-1)
Term End Examination, 2017-18

MATHEMATICS

Paper - II

Time : Three Hours] [Maximum Marks : 50
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Note : Answer any five questions. One question from

each Unit is compulsory. All questions carry
equal marks.

ZehTE / Unit-1

1. (a) 3R f(x) TH EHGHE HeH T 3T
TR fF f(x+3) =) +1 (), [1(0)=3,
f@)=yl @ f'(s) @ i
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(2)

If f(x) is differentiable function such

that f(x+»)=fx)+/0), [f(0)=3,
f(s)=y. Then find f’'(s).

(b) Tag =IfGT = weH

0 x=0
f(x): xsinl x#0
X

x=0 W g TRl T

Prove that function

0 x=0
f(x): xsinl x#0
X

1s not differentiable at x=0.

2. (a) TR w1 T fafgu @R fag =i
State and prove Taylor’s Theorem.
(b) AE wu=acos (logx)+bsin(logx)l I
fag wifsw o
X, @t Dy, + (7 + 1)y, =0

If u=acos (logx)+bsin(logx). Then
prove that :

xzyn+2+(2n+1)xyn+1+(n2+1)yn=0
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(3)

B8 / Unit-11
3. (q) =1 = 1 oFa wRfEl @ wifsg

Find Asymptotes of the curve

(b) fas aflﬁrq & 9% y:%(ex/a+e—x/a)

2

F fag (v,y) W @ B L ¥
a

Prove that radius of curvature at any
point (x,) of the curve
2

yzg(ex/“+e_x/“) is 2.
2 a

4. (o) ™9 T W @ HIWY
xy? =ya* 2a - x)
Trace the following curve
xy? =ya* 2a - x)
(b) sk leog(zj H Afd aReda fog
X

I IS
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(4)

Find point of inflexion of the curve

x:log(zj_
x

B8 / Unit-111

5. (a) 9ig ¢(n):jgtan”xdx, a9 fag
CHISENED
1
o(n)+o(n-2)=——
If ¢(n):jgtan”xdx, then prove that

1
n—1

o(n)+d(n-2)=

(b) T x23+23 =423 @ 'E"{U'f &AHA
A RIS

Find the complete area of
X234 )23 = 23,

2 2

6. (a) E"TEE?T x_2+2/_2:1 H x-AY & 9Ra:
a

TRYYU ¥ §Hd 3@ Rl AF—AT 9.
HIFSTT |
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(3)

Find the volume of the solid generated

2 .2
by revolving the ellipse I .
2 2
a” b
about x-axis.
e -1
(b) ok y=log— 1 ® x=1 ¥ x=2
e+

qF A9 I TR A I |

Find the length of the arc of the curve

e’ -1
y =log . from x=1 to x=2.
e +1
g8 / Unit-IV
7. (a) T HiNC:
dy 2
—=(4x+y+1
dx ( d )
Solve :
dy 2
—=(4x+y+1
o= (4xry+l)
() TA HINT :

P+ (y-x)p-y=0
Solve :

P+ (y-x)p-y=0
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(6)

8. (a) TA HIWT:
(D*-3D +2) y=cos 3x
Solve :
(D* 3D +2) y=cos 3x
(b) A hINT :
247y 3 —y+4y:2x2
dx? X
Solve :
24 y—3xdy+4y:2x2
dx? dx
B8 / Unit-V
9. (a) ®cd HITTT :
2
d—;—Ztanxd—y+5y:exsecx
dx dx
Solve :
2
d—;—Ztanxd—y+5y:exsecx
dx dx
(b) A hINT :
X
(D2—3D+2)y: ¢
l+e*
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(7)

Solve :
X
(D2—3D+2)y: ¢
1+e*
10. (a) BA T :
a_d_ &
1 3 5z+tan(y-3x)
Solve :
a_d_ &
1 3 5z+tan(y-3x)
(b) ©A HITeTT
dx dy
— —x+2y=0,=—-5x-3y=0
dt el 4
Solve :
dx dy
— —x+2y=0, =—-5x-3y=0
dt el 4
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